AFERDOHR

SHzTESA1E RBHE

EAKRZE
FER2TEE | FR28FE | TR2FE | FRI0EE | FHTFE
AZFEE (A) 90 90 90 90 90
Ef‘ AFEH(B) 99 98 95 92 85
= 79 83 81 87 72
Bt 20 15 14 5 13
FER2TEE | FR28FE | TH2FE | FRI0EE | FHTFEE
AZFEE(A) 5 5 5 10 10
R¥EfE | AZEH(B) 7 4 4 9 7
Eg i 5 3 4 6 2
Bt 2 1 0 3 5
- FR2TERE | TRi28EE | TROEE | THI0EE | SMTEE
g&; AZEE(A) 10 10 10 10 10
AFEH(B) 14 14 14 14 12
EAKRZENEHAKREE
FR21EE | FR28FEE | TR2EE | FTHIEE | FHTEE
AZEE(A) 50 50 50 50 50
ﬂgﬁm AFEH(B) 21 23 31 36 23
g 14 13 20 20 16
Bt 7 10 11 16 7




